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This question paper contains two parts — A and B.
Part A is compulsory for all.

Part B has two options — Analysis of Financial Statements and
Computerized Accounting.

Attempt only one option of Part B.
All parts of a question should be attempted at one place.

" <h
(TS AT qUT AT & e St
PART A
(Accounting for Partnership Firms and Companies)

grar fAfide 7 T 10 I9% & 6,750 THAT M & T & U e
rmfera fop | Tfst 7 yepr & 2 o

3ded W — T 3 ufd 31w

A W — T 5 Ifd 31

T qAT AfqH I W — T 2 Ifd 31

gt o791t o foTU oTdeT T B M | g 9 250 379 o fofu oTmaed feRam e
A 3T AU I TR 3MMeIeH o WA ¢ @ | WAt 7 175 3790 b foAw e
feRaT T I ATAET o 1Y 3TeeH UMM 1 Hf YA L T | e o T5
7o TS oft -

(%) < 16,750
(@) < 16,000
(M) 19,250
(F) T 22,875



‘Samta Limited’ invited applications for issuing 6,750 equity shares of
T 10 each. The amount was payable as follows :

On application — ¥ 3 per share

On allotment — ¥ 5 per share

On first and final call — T 2 per share
The issue was fully subscribed. Subhash applied for 250 shares and paid
his entire share money with application. Moti applied for 175 shares and
paid allotment money also with application. The amount received with
applications was :

(a) ¥ 16,750
(b) T 16,000
() T 19,250
d T 22875
2. 3730 % g1 T 31 AR | 1

Give the meaning of forfeiture of shares.

3. U, BE@ aUT fofell Uk BH T AR & 991 3: 2 : 1% U | oY sied
g | 28.2.2015 ! HIEE 4 HBH U TGN U0 fhaT | BEG & ThI UG
hid THA HHAR @fdqfd §= § T 12,000 1 39 o TEh! 316 STEwahal Tl
off | ®EE o Fh &V Hid W I8 TR 1
(%) Gft Areer o 4ol @il o A H Ik oy U # foreht S |
(@) bt ArEier o IS WAl o ST § 3k A9 I | forel! Sat |
() <rueh e Toieft % St @ral o ST H 3k e STUTd § foret St |
(F) @ % Yot @rd o W § Tt St |
Deepak, Farukh and Lilly were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. On 28.2.2015 Farukh retired from the firm. On Farukh’s
retirement there was a balance of ¥ 12,000 in Workmen’s Compensation
Reserve which was no more required. On Farukh’s retirement this
amount will be :

(a)  Debited to the Capital accounts of all the partners in their profit
sharing ratio.

(b)  Credited to the Capital accounts of all the partners in their profit
sharing ratio.

(c) Credited to the Capital accounts of Deepak and Lilly in their profit
sharing ratio.

(d)  Credited to the Capital account of Farukh.

4. 3T AT 9EAT 9 1.4.2014 1 Th AHER BH 99 | 1.1.2015 i &9 &

% T & TIU I8 HifHehT i Teh AT ATeiel ST | JifHehT 9 94T 9T
ST QAT WIEHT & SRR TR | ST, WieH1 e HifHeht 1 991 @
AT 4 : 3 : 3 AT | HEER! SHId THI STIIAT qAT WTGHT o AT TIITd b
TUHT SIS | 1
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Anurag and Bhawana entered into partnership on 1.4.2014. On 1.1.2015
they admitted Monika as a new partner for %th share in the profits

which she acquired equally from Anurag and Bhawana. The new profit
sharing ratio of Anurag, Bhawana and Monika was 4 : 3 : 3. Calculate the
profit sharing ratio of Anurag and Bhawana at the time of forming the
partnership.

U a1 fITet Tk wH § WIEER 9 A1 3: 2 % AU § A9 Sied I | A9 *
%W%%ﬁﬁqaﬁ@wa@mww | SN % Y9 W HH 1 Rl
foreur s @B @ % S| A T 10,000 1 AY @1 @1 A1, TR @d
TH & AQITA 4 FHHA 9T fodqdd & 9 hl T HL & | 9= BH &A@ o
- @1 o AY T T& a@rehd fohar 2 afe g7 at sror e qen afe T
@ T AT AT |

Kamal and Vimal were partners in a firm sharing profits in the ratio of

3 : 2. Ghosh was admitted as a new partner for %th share in the profits.

On Ghosh’s admission the Balance Sheet of the firm showed a credit
balance of ¥ 10,000 in its Profit and Loss Account which was debited by
the accountant of the firm in the accounts of Kamal and Vimal. Did the
accountant give correct treatment to the balance of Profit and Loss
Account ? If ‘yes’ give the reason and if ‘not’ give the correct treatment.

el i@ o 3199 § FEieR & 3780 9 SISl o1 ST & -
(i) 6% dTeh T H |

(i) 9% aTesh W H |

(iii)  12% TTH R |

(iv) I3 SIS &1 SR S |

In the absence of partnership agreement, interest on drawings of a
partner is charged :

) at 6% per annum.

(i)  at 9% per annum.

(i) at 12% per annum.

(iv) no interest is charged.



7. 3 I 9z W I A A Theel dH Tl 1 Seard g | 3

State any three conditions for the issue of shares at discount.

8. b AT TS TH BH H WISCR & qAT 3 : 2 UG H @19 died 8 | 1.4.2014

1 I7eh1 Teufa foamor f= gehr o - 3
< Tr&[ > TF&T
Tamd - raraal -
Sl : 80,000 i 0000
T 1,00,000 1,80,000 it O
1,80,000 1,80,000

31.3.2014 I HATK Y a¥ & [T BH 6T AW T 90,000 o1, TNE HIESH H
ISt W 6% Ffd T¥ AW qAT % Hl T 4,000 I fommet o e fom |rereri
T wfe fear wo | oY & W F 9 T 20,000 AT TH T 27,000 T IME
fopam |

3 e FT g T F oIw w tawEsd Usem=n gfafte Hifse |

K and L were partners in a firm sharing profits in the ratio of 3 : 2. On
1.4.2014 their Balance Sheet was as follows :

Liabilities Amgunt Assets Amgunt
Capitals : 1; 1?)%,(;(:)‘; i:;leizy 1,80,000
_1,00,000 1 ¢4 900
180,000 1,80,000

The profit for the year ended 31.3.2014, ¥ 90,000 was divided between
the partners without allowing interest on capital at 6% per annum and a
salary to K at ¥ 4,000 per quarter. During the year K withdrew ¥ 20,000
and L withdrew ¥ 27,000.

Pass a single adjustment entry to rectify the error.

67/2/3 5 P.T.O.
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i fafies’ < 8,00,00,000 i 31f¥eRd gSit, ST T 10 I3 % 80,00,000
st § fawek 8, § USfishd @ | O 9 1,00,000 3TN HI T 2 WA W %
fiftrem w it foram | afr fom woem @ 3 ot

MdeT W — T 3 9fd 3w

A W — T 5 gfa 3 (Hfrew @fza)

T U7 31fm I W - AN
Tt AT wi <ft TE qen yTed Bl S, Shaet TR Wi g, e ™ 1,000
319 o, & Jom qen SAf=m Jr=1 1 A T8 TR |
Hro fufEm, 1956 1 F VI WIT 1 TFER 37 ISt 1 ot o feafa
foeor 4 weqa i |

‘Telecom Limited’ is registered with an authorized capital of
T 8,00,00,000 divided into 80,00,000 equity shares of ¥ 10 each. The
company issued 1,00,000 shares at a premium of ¥ 2 per share. The
amount was payable as follows :

On application — ¥ 3 per share

On allotment — ¥ 5 per share (including premium)

On first and final call — The balance
All calls were made and were duly received except the first and final call
on 1,000 shares held by Asha.

Present the ‘Share Capital’ in the Balance Sheet of the company as per
Schedule VI Part I of the Companies Act, 1956.

qrfiua siohem fafiee’ wracti & 3Icutgsw qen fafas 2 | o 3 @ @
&faed §Y IR o dr= el § 1,000 HFEA JHI dfed 1 o foran | 584 3
Tidl % 100 FISEHI I ISTE I H TG i I Tt A9 T8 Bad
H ARl W e 1 oft fof foren | 98 Haht & forw o7 Y sravEsRar i gfd
T U 9 T 10 YIH H 1,00,000 FHAT AT AT T 100 T&H b 2,000, 9%
RO ! WG o fasharsti =t fnifia foman | aefiedt 1 690 = 12,00,000 &
fopam T |

HEOT 6T TEAh § ITYH TG o ToTT, TEgeeh Ustw=n Yfafsear Shifse qen
vy forelt U g Y vgae hifve @ swrot TE s wuiva e = Edt @ o

‘Panipat Blankets Limited’ are the manufacturers and exporters of
blankets. The company decided to distribute 1,000 blankets free of cost to
five villages of Kashmir which had been damaged by the floods. It also
decided to employ 100 young persons from these villages in their newly
established factory at Ludhiana in Punjab. To meet the requirements of
funds for its new factory, the company issued 1,00,000 equity shares of
T 10 each and 2,000, 9% debentures of ¥ 100 each to the vendors of
machinery purchased for ¥ 12,00,000.

Pass necessary journal entries for the above transactions in the books of
the company. Also identify any one value which the company wants to
communicate to the society.




11.  =hidar, Tl aom GAaT T BH § HIelGR 9 q1 2: 1: 2% 39 § o9 sied
¥ | 31.3.2014 1 3k feyfa faawor f yehr o -

. s . qfr
gqmd - grgft =
TER 83,000 | Ths 45,000
2 faa 19,000 | TR 34,000
a4t - g fered 15,000

HigdT  1,40,000 B 2,10,000

NEL 1,80,000 ERIETY 2,00,000

gHiar 90,000 4,10,000 | e i g 8,000

5,12,000 5,12,000
31.9.2014 %I AT 1 G &l AT | FIEGRI i@ oh SFER T ATeER &
fsqresnt & fou fm 29 2
(%) U H TG H IWH W, SEw qoaed TUse 9r aui o ofted
a9 b a1 T W TR Sem | wd w1 fUse 9w 9wl s @y
ShHIT: ¥ 1,98,000; T 2,24,000; T 2,76,000 941 T 3,27,000 AT |
(@) 3Uh! g % B oh oW H 3IHeh W, &Rt Mo fUBed =R awl
T A9 o YR T S |
(7)) 38k Yol @I o FHT hl T AY IS HIS @, A 36 T 6% a6 hl & H
SIS
()  3Heh I W 12% N 6l & T I |
a1 o Frsargeni i Tegd i o T g w1 geit @rar dar i |
Kavita, Ravita and Sunita were partners in a firm sharing profits in
2 :1:2ratio. On 31.3.2014 their Balance Sheet was as follows :
Liabilities Am;“nt Assets Amgunt
Creditors 83,000 | Cash 45,000
Bills Payable 19,000 | Debtors 34,000
Capitals : Bills Receivable 15,000

Kavita 1,40,000 Furniture 2,10,000

Ravita 1,80,000 Machinery 2,00,000

Sunita _ 90,000 1 4 10,000 | Sunita’s Capital 8,000

5,12,000 5,12,000
67/2/3 7
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On 31.9.2014, Sunita died. The partnership deed provided for the
following to the executors of the deceased partner :

(a) Her share in the goodwill of the firm, calculated on the basis of
three years’ purchase of the average profits of the last four years.
The profits of the last four years were I 1,98,000; ¥ 2,24,000;

T 2,76,000 and T 3,27,000 respectively.

(b) Her share in the profit of the firm till the date of her death,
calculated on the basis of the average profits of the last four years.

(c) Interest @ 6% per annum on the credit balance, if any, in her
Capital account.

(d)  Interest on her loan @ 12% per annum.

Prepare Sunita’s Capital Account to be presented to her executors.

SH, e a8 T B H ErEeR O | 3Rt T 4§ off - SH T 4,00,000;
Tl T 6,00,000 A6 T8 T 10,00,000 | I YST % ATIT H AT died & | BH
f-ord g o Ieured aT forawer 1 saE el off | e Hoe ¥ delt W
10% Jfdas SaTS sh1 TIE9™ o1 | 31 /= 2014 %1 GAT BC N H ®H T AW
T 1,47,000 o |

3ot W feoaufl I TU ¥ § R gY BH HT AU fITR=—ISH @rar dam
HIT |

Jain, Gupta and Singh were partners in a firm. Their fixed capitals were :
Jain ¥ 4,00,000 ; Gupta ¥ 6,00,000 and Singh ¥ 10,00,000. They were
sharing profits in the ratio of their capitals. The firm was engaged in the
processing and distribution of flavoured milk. The partnership deed
provided for interest on capital at 10% per annum. During the year ended
31st March 2014 the firm earned a profit of ¥ 1,47,000.

Showing your working notes clearly, prepare Profit and Loss

Appropriation Account of the firm.
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TE wREd fAfieE’ 1 ISR T 40,00,000 hHT ISk GSft, ST T 10 T
% 4,00,000 THAT AT fodeh off, § g3 AT | FFH 7 1,00,000 A H
oo foRam g1 o e oW 2007 — 08 % 0T 38+ T 3 Wid 3% & ATHI H
P foRd | HEO] o YOO J T SH-SFTC I 1 U9 o ¥ Sl A
& H1 Tl foen | sifafes fom i smaweshar &t @@ & % fow wet &
o weieres 3 fewres Avga & wmer fafafga 9 faseq w@

(i) 1,54,000 370 1 T9-HeF T FfE |

(i) Toxit@ 9EAH ¥ 5 9 & fI@ T 15,40,000 T k0T fof=m ST | /0T 12%
gfead hl e W IucTey AT |

(iii) T 100 Y&¥% & 16,000, 9% FOTGAT T TFHT 10% o g T o ST
St wMem 9, =), uie qen ©: 99t & 3 H FAtaRgd feeo

HJEN fepeat ® foram StTem
a9 Tty
=
III 2,00,000
v 3,00,000
\Y% 4,00,000
VI 7,00,000

fosheai 1 gaT- & gvETq w3 et foshew & uat § faof form den
1.4.2008 ! TG 1 e s feam |

2008 — 09 2013 — 14 991 & U 9% RUT9T WrdT AR HifvT |

‘Chennai Fibers Limited’ was registered with an authorized capital of
T 40,00,000 divided into 4,00,000 equity shares of ¥ 10 each. The
company had issued 1,00,000 shares and the dividend paid per share was
T 3 for the year 2007 — 08. The management of the company decided to
export its readymade apparels to European countries. To meet the
requirement of additional funds, the finance manager put up before the
Board of Directors the following three alternative proposals :

) Issue of 1,54,000 equity shares at par.

(i1)  Obtain a loan of ¥ 15,40,000 from a financial institution for a
period of 5 years. The loan was available @ 12% per annum.

9 P.T.O.



(iii)

Issue 16,000, 9% debentures of ¥ 100 each at a discount of 10%

redeemable in instalments at the end of third, fourth, fifth and
sixth year as per details given below :

Year

III
v

v
VI

Amount

-
2,00,000
3,00,000
4,00,000
7,00,000

After comparing the alternatives, the company decided in favour of the
third alternative and issued debentures on 1.4.2008.

Prepare 9% debentures account for the years 2008 — 09 to 2013 — 14.

14. <IYSI, IME qAT 9o TTEER & T 3 : 2 : 1 % U § oY dfed & |
31.3.2014 1 3kl BH h faued & T | TUAl b = fedr T qen
AT T YA T T | r@dTa 4 I @i, |Ieieri o Yol @d ao
Thg |IAT AR foh wig 371 @rdl § $© TRMT Sl Gl ET a T |
3 e feu T @Tdl # Tt ufiet B @dH Bk 3% @ I |

T T
E 1) S|
G qen A 1,60,000 | fafirr Ser 1,50,000
Tih 1,50,000 | it =naet o1 0T 1,30,000
fafire SR 2,00,000 | ALFIA Qe Feiehtor =™ 12,000
qeied ST 4,000 | 9d =N % fT¢ T@g™ 10,000
faw 30,000 g w .
(ufEraf 1 fasa)

19T 1 St @rat L DF 1,00,000

(sfiwreft =gt o1 koT) | 1,30,000 Wik 1,20,000
Tehg @1 (TR foret) 50,000 TerR 1,60,000 3,80,000
Uhg WIAT (WER) 1,50,000 | TT9ST 3T Ysit @rar (femr) 20,000
Tehg @IdT () 8,000 | e,

8,82,000 8,82,000

67/2/3
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™ S|
EIEE] EIRE qed
e e e IECLUI Al
< < < < < <
CEIRCIKI
20,000 3y = &
(fawr)
YAl @l
........................................ 1,30,000
()
2,30,000| 1,50,000 | 30,000 2,30,000 | 1,50,000 |30,000
Tehg @TAT
™ STHT
iy e
e - IEELUl >

.................... g @ (3TEia fora) 50,000
.................... gt @ (fafie TFeR) 1,50,000
9 o1 Yol @ 10,000 | e,
19T 1 Yoil Qe 1,20,000
T8 <1 Yoit @t 90,000
4,18,000 4,18,000
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Chopra, Shah and Patel were partners sharing profits in the ratio of
3:2:1.0n 31.3.2014 their firm was dissolved. The assets were realized

and liabilities were paid off. The accountant prepared Realisation

Account, Partners’ Capital Accounts and Cash Account but forgot to post

few amounts in these accounts.

You are required to complete the below given accounts by posting correct

amounts.
Realisation Account
Dr. Cr.
Particulars Am;unt Particulars Am;unt
To Plant and Machinery 1,60,000 | By Sundry Creditors 1,50,000
To Stock 1,50,000 | By Mrs. Chopra’s Loan | 1,30,000
To Sundry Debtors 2,00,000 | 0¥ Repairs and 12,000
T Renewals Reserve ’
To Prepaid Insurance 4,000 By Provision for Bad 10,000
’ Debts ’
By Cash A/c —
To Investments 30,000 (Assets sold) :
To Chopra’s Capital A/c Plant  1,00,000
(Mrs. Chopra’s Loan) | 1,30,000 Stock  1,20,000
To Cash Alc Debtors 1,60,000 | 3,80,000
(Dishonoured Bill) 50,000
By Ch ’s Capital A/
To Cash (Creditors) 1,50,000 | > ToPras HAPRATAE] 94 600
(Investments)
To Cash (Expenses) 8000 .
8,82,000 8,82,000
12




Partner’s Capital Accounts

Dr. Cr.
Particulars Chopra| Shah | Patel Particulars Chopra | Shah | Patel
< < < < < <
To Realisation
(Investments) 20,000 By bal. b/d
By
........................................ Realisation| 1,30,000
(Loan)
2,30,000(1,50,000 | 30,000 2,30,000 {1,50,000( 30,000
Cash Account
Dr. Cr.
Particulars Am;unt Particulars Am;unt
By Realisation A/c £0.000
"""""""""" (Dishonoured Bill) ’
By Realisation
.................... (Sunday Creditors) 1,50,000
To Patel’s Capital A/c 10,000 | s,
By Chopra’s Capital A/c | 1,20,000
By Shah’s Capital A/c 90,000
4,18,000 4,18,000
67/2/3 13 P.T.O.
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1.4.2013 I HIgT qAT Higd - FE HI hH1 FGH™ D & L Th AER BH
A8 | Higd 9 T 1,00,000 T FET 4 T 50,000 ht Usft TS | Fifeh digd A
had T 50,000 I ISt @, & WA g fob St ol St h AT
Bt =g rfafes goft @mmem | S oh ot HH STravIshdl B ae Hied w1 dofl
1 IR LA hl A Wt & T3 | 31.3.2014 I THIG gC AN H @A A Yol
& &9 4 f=faiad Tfyr @me ua sqent 31meor foha

fafer ol erms qSft <1 STrET

01.5.2013 10,000 —

30.6.2013 — 5,000

30.9.2013 97,000 —

01.2.2014 87,000
TR Toi@ o AR Iofl W G%Qﬁ‘qﬁ‘ﬁaﬁméa% |
TTSER sh1 ISt o =TS <l MU SHIfT |

On 1.4.2013 Mohan and Sohan entered into partnership for doing
business of dry fruits. Mohan introduced ¥ 1,00,000 as capital and Sohan
introduced ¥ 50,000. Since Sohan could introduce only ¥ 50,000 it was
further agreed that as and when there will be a need Sohan will
introduce further capital. Sohan was also allowed to withdraw from his
capital when the need for the capital was less. During the year ended

31.3.2014, Sohan introduced and withdrew the following amounts of

capital :

Date Capital Introduced Capital Withdrawn
01.5.2013 10,000 —
30.6.2013 — 5,000
30.9.2013 97,000 —
01.2.2014 — 87,000

The partnership deed provided for interest on capital @ 6% per annum.

Calculate interest on capitals of the partners.

14
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@A fafee’ 3 T 100 I & 12,000 THAT M I T 75 Tid 37 & Hfw
W frifia s & fore etrega smmf=a fore | afy i v @ g off

TS YT 3ATee W — T 100 Uit 379 (T 50 Hiftem @fga)

o qT 31f<m A=A W - W

15,000 3= o TTQ 3TegA W g | @1 3TAGehi ol AU TUR W 30
ST 3ATEeH HL TG T | AEEHT o Wiy Yo ATANRE KT T THIEY gAH qe
A\ I/t W e Uiy #§ o w | mifame, SR 300 3TN % fotw Streed
foram om, 9 oot meft oTw Ul ;1 AW ST o U STeEH d EHI
fear | fimer, 5= 600 2791 & foiw ofEed fomam o, 3 wom qen ifam I
T YA T R | 3T 7R W g0 K foram R | wwer fohw w o A |
300 37T I T 90 W 3791 Ui g gA: ifoa =t feam e |

ST Tl @ Tt T foafies’ & gl § stevdes UsHmer gfafseat
i |

AT

‘S fdfes’ 4 T 10 Ifd 3T % 90,000 HWAT I H 8% §g W FwifHa
i o foru mmeed smmfeaa foh | afst =61 yrae e e @ o o

JMEE W — T 2T 371

e W — T 3 o7

ToW qT A A= W — 3
87,000 3T < 7Y TG UTed BY | Gl SATAGehi ohl RN 1 A& HL QA
T | W, Tk INYNeh e 1,600 A & U steed foham on, 3 Ameeq
ST 1 Pram T8 R | Uk I H qd O R o T | us eIk
AU T, T8 1,500 3TN b1 STMeeT foham AT o, § YoM qe 3Af-ad JreT
T YA T SR | 3Heh 379t ot ot geor ot fora TR | B fobw e Siwt 6 @
2,000 37 & T 9 i 31 U yea qA: Frifta W fem w1 g fifaa
R U o7eT ® TH o At ofm Afmiferd o |
SUUE el @ ToTT “Sheamn fafids’ i g&aehl H Aawde Usm= gfafseat
HIT |
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‘Ratan Limited’ invited applications for issuing 12,000 equity shares of
T 100 each at a premium of ¥ 75 per share. The amount was payable as
follows :
On application and allotment — ¥ 100 per share
(including ¥ 50 premium)
On first and final call — The balance

Applications for 15,000 shares were received. Shares were allotted on
pro-rata basis to all applicants. Excess money received with applications
was adjusted towards sums due on first and final call. Govind who had
applied for 300 shares paid the full share money at the time of applying
for shares. Girdhar, who had applied for 600 shares, failed to pay the
first and final call money. His shares were forfeited. Out of the forfeited
shares, 300 shares were re-issued at ¥ 90 per share as fully paid-up.

Pass necessary journal entries for the above transactions in the books of
‘Ratan Limited’.

OR

‘Kalyan Limited’ invited applications for issuing 90,000 equity shares of
T 10 each at a discount of 8%. The amount was payable as follows :

On application — ¥ 2 per share

On allotment — ¥ 3 per share

On first and final call — The balance

Applications for 87,000 shares were received. Shares were allotted to all
the applicants. A shareholder, Shyam who had applied for 1,600 shares
failed to pay the allotment money and his shares were immediately
forfeited. Later on, the first and final call was made. Another shareholder
Ram, to whom 1,500 shares were allotted failed to pay the first and final
call. His shares were also forfeited. Out of the forfeited shares 2,000
shares were re-issued at ¥ 9 per share as fully paid-up. The re-issued
shares included all the shares of Ram.

Pass necessary journal entries for the above transactions in the books of
‘Kalyan Limited’.
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17. %, @ qAT 7T T BH H AHER 9 qA1 3 : 2 : 1o UM § o9 Sied o |

1.4.2014 =1 37eh1 feufa faawor fm geem o

e’ 25,200 | S 8,200

afersy ffy 3,000 | TTCR 60,000
g 9= 21,000 | 5127 : J@EE 2,000 58,000
It @ - i 50,000
ED 80,000 fraw 20,000
EC| 73,000 Tehed 10,000
T 40,000 1,93,000 | wefi=dt 96,000
2,42,200 2,42,200

STk fafer st T 3 taehTr TEw foRa |
g Tt foram e o6

(i)  ®H I TR I o T 5,400 Toram smam |

(i) A 9 10% 1 HeIg® TR ST |
(iii) THEd I 20% ° FHH Thal @ |

(iv) wfosy ffar 6t gar = 2,500 176 78 |
(v) T T 31,700 § o= @ o fomm |

(vi) ‘@ U1 @ | A YA Rl AW ST H GG HH w1 (i fom |
3Heh TOIT =Te] Wd @it T |

T % FTHN TV B W EHART @Al qAT HEER % Yol @ d&IR
I | 8

YT
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3, R AT TH Teh HH H ATHER & AT 3: 2 : 1 o UG § oY dfed o |

1.4.2014 1 37eh1 feufa faeror f yeem o -
EGIRCIE 3 1 =T @il 7,000
an 1,75,000 afiy qer s 1,75,000
3R 1,50,000 TIF qen i 67,500
T 1,25,000 | 4 50 000 | wHfR 80,000
9T @ : [EEN 36,500
an 4,000 Tt fore 17,000
T 6,000 10,000 | fafee gHaR 43,500
T E= 15,000 | & 1,37,000
I ESIERCIG) 7,000 | 5% 43,500
TSR 80,000
% foa 45,000
6,07,000 6,07,000

67/2/3

39k fafer =t f=1 31af W T 1 Toh A1 HIBIGR 4= T34

() T A gt % U T 50,000 ATCT TAT 3G AT H 1/6 9T e |

(i) 98 @nfd fifem % o 9 % fou sawaes Uskhe @M | BH H
AT 1 GoATohd T 90,000 fopam 7 |

(iii) T 9 I 2:2:1: 1AM |

(iv) 92 W YA T T I foet & fofw & 7,004 sl T <FaT sl Jag™
fepan smarm |

(v) I, Beter a1 Fawr i AW i 20% & A Tohan JT@m w@ | qe
Mo, GI3 9T TR0 sl aTd, SHAST: 20% dAT 10% © @8 Sl |

(vi) HTSRR o 9GSt @l 1 THREISH TH St o YR W Ik =g
Gl < AeAw g fopan Sma |

QHcATR @TdT, HISIGRI oh =Te] @Td a2l FT3iGRI s St @i da) i |
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A, B and C were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 1.4.2014 their Balance Sheet was as follows :

Liabilities Am;“nt Assets Am;“nt
Creditors 25,200 | Bank 8,200
Provident Fund 3,000 | Debtors 60,000
General Reserve 21,000 Less Provisionﬂ) 58,000
Capital Accounts : Stock 50,000
A 80,000 Investments 20,000
B 73,000 Patents 10,000
C 40,000 1,93,000 | Machinery 96,000
2,42,200 2,42,200

On the above date C retired. It was agreed that :

) Goodwill of the firm be valued at T 5,400.

(i1)  Depreciation of 10% was to be provided on machinery.

(iii)

Patents were to be reduced by 20%.

(iv)  Liability on account of Provident Fund was estimated at ¥ 2,500.

(v) C took over investments for ¥ 31,700.

(vi) A and B decided to adjust their capitals in proportion to their profit

sharing ratio. For this purpose current accounts were opened.

Prepare Revaluation Account and Partners’ Capital Accounts on C’s

retirement.

67/2/3
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O, R and S were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 1.4.2014 their Balance Sheet was as follows :

Liabilities Amount | ssets Amount

Capital Accounts : R’s Current Account 7,000

O 1,75,000 Land and Building 1,75,000

R 1,50,000 Plant and Machinery 67,500

S M 4,50,000 | Furniture 80,000

Current Accounts : Investments 36,500

O 4,000 Bills Receivable 17,000

S 6,000 10,000 | Sundry Debtors 43,500

General Reserve 15,000 | Stock 1,37,000

Profit and Loss Account 7,000 | Bank 43,500
Creditors 80,000
Bills Payable 45,000

6,07,000 6,07,000

On the above date, H was admitted on the following terms :

) H will bring ¥ 50,000 as his capital and will get 1/6™ share in the
profits.

(ii)) He will bring necessary cash for his share of goodwill premium.
The goodwill of the firm was valued at ¥ 90,000.

(iii) The new profit sharing ratiowillbe 2:2:1: 1.

(iv) A liability of ¥ 7,004 will be created against bills receivables
discounted.

(v)  The value of stock, furniture and investments is reduced by 20%,
whereas the value of land and building and plant and machinery
will be appreciated by 20% and 10% respectively.

(vi)  The Capital accounts of the partners will be adjusted on the basis
of H’s Capital through their current accounts.

Prepare Revaluation Account and Partners’ Current Accounts and
Capital Accounts.
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18.

19.

20.

67/2/3

T s @
(Terfrar feraromt =t fergeroon)
PART B

(Analysis of Financial Statements)

o~

efeiRgd @ @ -8 @9 ¥ Uehg JdT8 BT : 1
(i) S H T 43,000 5 TR |

(i) s I T 23,000 T LT fohaT |

(iii) T 38,000 T&Ih oI hl WAL I T 3,000 hl FTH T =T T |

(iv) ¥ 2,00,000 % 9% U9 ! qHaT 3T H qiafda fomam |

Which of the following transactions will result into flow of cash :

(1) Deposited T 43,000 into bank.

(i1)  Withdrew cash from bank ¥ 23,000.

(iii) Sale of machinery of the book value of ¥ 38,000 at a loss of
T 3,000.

(iv) Converted T 2,00,000, 9% debentures into equity shares.
Uerg a8 faawor’ R =d gaw 99 fofiee’ s w focfie et B, &
U 4 Few ® yed s o ey wiafatern A qutn | e 3T aw wd

foRaT 2 SAIUT 9ATST | 1

While preparing ‘Cash Flow Statement’, the accountant of ‘Jain Limited’,
a financing company, showed dividend received on investments as
investing activity. Was he correct in doing so ? Give reason.

frfafaa wal 1 ot sTfafem, 1956 S = VI 9F 1% TgER fhd g

SfISehT AT UM < SF=Id ST ST 4
(i) W IR ek fohT ST T feam T =T |
() T |

(iii)  IfIfITIRR (HUIRTEE) |

(iv) 9 =Y |

(v) = |

(vi) U TR |

(vii) dFR AT T T2 |

(viii) o a9 o q9=Tq MY foht ST a1t 9% RoT9d |
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21.

22,

67/2/3

Under which major headings and sub-headings will the following items be
placed in the Balance Sheet of a company as per Schedule VI Part I of the
Companies Act, 1956 :

) Loans provided re-payable on demand.
(11) Goodwill.

(iii)  Copyright.

(iv)  General Reserve.

(v)  Cheques.

(vi)  Loose tools.

(vii) Stock of finished goods.

(viii) 9% debentures re-payable after three years.

Th HETHT 1 AT 3IA 2-5: 1-5 7 | RO ¢d gC Famsy fop Fefafied oeH
o o fopad 918 31T S, T ST SHH hIs UG T8l 8 ¢

(i) S " T 10,000 T Th I ot AR T | S 7 T 200 FT AR
(i) ©% ¥ T 8,000 % Fg W YA T Teh U forat o1 3G & T4 |

(iii) s T T 7,000 5T fhU |

(iv) <FERI &l T 5,000 T YA foha |

The Current Ratio of a company is 2-5 : 1-5. State with reasons which of
the following transactions will increase, decrease or not change the ratio :

(1) Discounted a bills receivable of ¥ 10,000 from bank. Bank charged
discount of ¥ 200.

(i1) A bill receivable ¥ 8,000 discounted with bank was dishonoured.
(iii) Cash deposited into bank ¥ 7,000.
(iv)  Paid cash ¥ 5,000 to the creditors.

AMIYATCH TaTell 1 IcdTed qdl foator & Al Uk wrdl Ta e wml
fafiee =1 aTeyl-aTe TRy YR B | 39 JEUeh doT hHAR! HeEAd!, SHMER
qom ARG § | 31.3.2014 S T §C 99 H FHFAT H Yg A FMAT B
T | 9 ST § ScEfgd el 4 oAU |yt SHeTEl i Ush HIE W
Afafes 9 & = fofw formm |

31.3.2013 AT 31.3.2014 I THT BT a1 o fTT HFAHT 1 JATCHS ATH-BIH
A = TR A 7
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Ta 2= wmi fafwes

TEATeHS ATH-ZTH feraror
3 de | 2012-13| 2013 - 14| fm= %
i EIRCKE|
& T T Piicneits
FHRIEHAT H A 40,00,000 | 60,00,000 | 20,00,000 | 50
o HHAN fod = 24,00,000 | 28,00,000 |  4,00,000 | 16-67
Y A 16,00,000 | 32,00,000 | 16,00,000 | 100
H 50% hT T H 8,00,000 | 16,00,000 |  8,00,000 | 100
T IREMG TH 8,00,000 | 16,00,000 8,00,000 | 100
(1)  31.3.2013 T 31.3.2014 I AT Y TN o AT Yg AN TG !
| - >
(i) U@ foredl Q qeat 1 vgEm e, {2 9 fag vt fofies” @wfia
T TTEAT B | 4

The motto of ‘Nav Hind Pharma Limited’, a company engaged in the
manufacturing and distribution of Aurvedic medicines, is ‘Healthy India’.
Its management and employees are hardworking, honest and motivated.
The net profit of the company doubled during the year ended 31.3.2014.
Encouraged by its performance, the company decided to pay one month’s
extra salary to all its employees.

Following is the Comparative Statement of Profit and Loss of the
company for the years ended 31.3.2013 and 31.3.2014 :

Nav Hind Pharma Limited
Comparative Statement of Profit and Loss
' Note| 54519 _ 13| 2013 _ 14| Absolute | % Change
Particulars No. Change T
< <
Revenue from operations 40,00,000 | 60,00,000 | 20,00,000 5-0
Less : Employees benefit 24,00,000 | 28,00,000 | 4,00,000 | 16-67
expenses
Profit before tax 16,00,000 | 32,00,000 | 16,00,000 100
Tax @ 50% 8,00,000 | 16,00,000 | 8,00,000 100
Profit after tax 8,00,000 | 16,00,000 | 8,00,000 100

(i)
31.3.2014.
(ii)

trying to communicate.

67/2/3

Calculate Net Profit Ratio for the

23

years ending 31.3.2013 and

Identify any two values which ‘Nav Hind Pharma Limited’ is
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23. 31.3.2014 ! fare giaw fefiaee =1 feufa faawo 1 v @ o .

forre uter forfiee
31.3.2014 = feufa ferawor
fhz 31.3.2014 | 31.3.2013
Toraar & T T
I — QUdT 9T ¢IaT :
1. | srvremdr Ao .
(1) ofer gt 48,00,000 | 44,00,000
(9) @=9 W@ AT 1 | 12,00,000 | 8,00,000
2. | A ﬁ?TdTQ' :
[AREARI i) 9,60,000 |  6,80,000
3. Wﬁﬁtﬁnﬁ :
(37) AT CIATd 7,16,000 |  8,16,000
(9) LRI I 2,00,000 |  3,08,000
$A 78,76,000 | 70,04,000
II - gttt
1. | 3T=reT gt
(31) woTe ufEratEt
(i) gd 2 42,80,000 | 34,00,000
(i) 3T 3 1,60,000 |  4,80,000
2. | AT T:
(a1) = e 9,60,000 |  4,48,000
() weeh (W ge) 5,16,000 |  4,84,000
(|) TTieh gTfeaat 6,80,000 | 5,72,000
(3) Uhs TAT Uhg Jod 12,80,000 | 16,20,000
$A 78,76,000 | 70,04,000
67/2/3 24
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T & e

qﬁz - 31.3.2014 1| 31.3.2013 &I
g.
T T
1 o 12,00,000 8,00,000
YR (-1t forewor &1 2v) e o
2. | 9e uftaratrat
B IE T} 50,80,000 40,00,000
5T : ThiId e aTE (8,00,000) (6,00,000)
3. | oTd Ut
1,60,000 4,48,000
It
STARTE G

9 H wH W, SR @Fa T 96,000 off den N W THGA qous™

T 64,000 o, s T 24,000 § 5= fezr ™ |

Uohg JaTg forawor G Hhifvy |
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Wind Power Ltd.

Balance Sheet as at 31.3.2014

Following is the Balance Sheet of Wind Power Ltd. as at 31.3.2014 :

ol Note| 2013 -14 2012 -13
Particulars No. > =
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 48,00,000 44,00,000
(b) Reserves and Surplus 1 12,00,000 8,00,000
2. | Non-Current Liabilities :
Long-Term Borrowings 9,60,000 6,80,000
3. | Current Liabilities :
(a) Trade Payables 7,16,000 8,16,000
(b) Short-Term Provisions 2,00,000 3,08,000
Total 78,76,000 70,04,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible 42,80,000 34,00,000
(ii) Intangible 3 1,60,000 4,80,000
2. | Current Assets :
(a) Current Investments 9,60,000 4,48,000
(b) Inventories 5,16,000 4,84,000
(c) Trade Receivables 6,80,000 5,72,000
(d) Cash and Cash equivalents 12,80,000 16,20,000
Total 78,76,000 70,04,000

67/2/3
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Notes to Accounts

As on As on
S.No. | Particulars 31.3.2014| 31.3.2013
< 3
1. | Reserves and Surplus
Surplus (Balance in Statement of | 12,00,000 | 8,00,000
Profit and Loss)
2. | Tangible Assets
Machinery 50,80,000 | 40,00,000
Less : Accumulated Depreciation | (8,00,000) | (6,00,000)
| ible A
3 (;)to?i?v“ﬂr e Assets 1,60,000 | 4,48,000

Additional Information :
During the year a piece of machinery costing ¥ 96,000 on which
accumulated depreciation was ¥ 64,000 was sold for ¥ 24,000.

Prepare Cash Flow Statement.

QUE @
(erfrenfora e )
PART B

(Computerised Accounting)
18. ‘TH.HTA. F ANIE 7 : 1
()  AEME FY A 39 |
(i) I I A0 |
(i) ETEHTCHS Tl 9T |

(iv) qU-gE (VR fafees) w1 |
‘SQL’ stand for :
1) Simple Queue Line up.
(i)  Sample Question Log.
(iii)  Structured Query Language.
(iv)  Star Listed Questions.
67/2/3 27 P.T.O.



19.

20.

21.

22.

23.

67/2/3

SIETed <8d H T i IH acl 7G  ehie ol 379 B
(i) SO 1 T e |

(i) o I LA & |

(iii) o 1 A |

(iv) 3o i &fast dfed |

The term ‘record’ as applied to database table means :
(1) A record of documents.

(i)  Vertical column of the table.

(iii) Name of the table.

(iv)  Horizontal row of the table.

ST T ITANT A §U Sk FHIUH Tqeror M % =N I Ieei@ HIWT |

State the steps to construct a ‘Bank Reconciliation Statement’ using
Tally.

“ATYR{T TETRA YUTTel o foheal g1 AT TF g1 EWISAl S Seci@  hIfT |
State any two advantages and two limitations of ‘Computerised
Accounting system’.

AR HiFed hl faRarst 1 Iecig iU |

State the features of accounting software.

39 fofla %R %1 AW Fdqd gY I GWHTsY S 39 whayfd W AN s
TUHT ST &, SN TTE19eh TS 1 YTAH i & |

Name and explain the financial function which calculates accrued
interest for a security that pays periodic interest.

28

N



